
As-tu bien compris ? N1-2-3-4

✯Exercice 1

Calcule :

(+12) + (−27) = . . . . . . . . . . . . (−3, 4) + (+8, 2) = . . . . . . . . . . (+4, 7) + (+8, 2) = . . . . . . . . . .

(+9, 5) + (+4, 8) = . . . . . . . . . . −200 + 3 = . . . . . . . . . . . . . . . . . −7 − 32 = . . . . . . . . . . . . . . . . . .

(−4)− (−5) = . . . . . . . . . . . . . . (−7)− (+8) = . . . . . . . . . . . . . . (+4, 8)− (−5, 2) = . . . . . . . . . .

= . . . . . . . . . . . . . . . . . . . . . . . . . . . = . . . . . . . . . . . . . . . . . . . . . . . . . . . = . . . . . . . . . . . . . . . . . . . . . . . . . . .

−14− 3 = . . . . . . . . . . . . . . . . . . 38− 14 = . . . . . . . . . . . . . . . . . . . (+0, 8)× (+7) = . . . . . . . . . . . .

(−7)× (−8) = . . . . . . . . . . . . . . (+9)× (−4) = . . . . . . . . . . . . . . (−1, 2)× (+3) = . . . . . . . . . . . .

(−4, 8)÷ (−4) = . . . . . . . . . . . . (+58)÷ (−10) = . . . . . . . . . . . . (−15)÷ (+3) = . . . . . . . . . . . . .

(+2, 1)÷ 7 = . . . . . . . . . . . . . . . (−3, 6)÷ (−9) = . . . . . . . . . . . . (−3, 7)× (+0, 2) = . . . . . . . . . .

(−5)2 = . . . . . . . . . . . . . . . . . . . . (−2)3 = . . . . . . . . . . . . . . . . . . . . (−0, 5)× (−17) = . . . . . . . . . . .
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✯Exercice 2

Dans ton cahier, effectue les calculs suivants en soulignant le calcul en cours :

A = (−8)× (−125)× (+3, 2)

B = (−4)× (−8)× (−2, 5)

C = 8− 3 + 5− 4

D = −3, 5 + 1, 4− 9, 5 + 2, 8

E = 10× (−5 + 3)

F = (−0, 5)× 8 + 2, 5× 4

G =
−8 + 9

−7− 3

I =
−17− 9

−1 − 3


